uséd_ to p%épar a
a) shde presentatlons b) Spr__ d- he '




year ‘/ ;_, R

20000
20100

| '“~ b Draw multlple bar dlagram for the followmg data

: j sales( OOU Rs ) Gross Proﬁt( 000 Rs)

40
45

| .6.07' B

a Calculate rnean and medlan for the glven data:; :: .

'*Net P_IEQﬁt(‘:ooQ ‘R‘s) RO

G200
35
40

‘*‘LJ/V‘.' o i

Class_*

~10
. 'mterval ’

AN 10-20

tzo30 |

'3_0:-46_' T

2050 ] 5

‘:‘ 1 Frequency

.,OR

. Fmd the coe;fﬁc1ent of standard dev1atlon

‘..,Measurement

- 0-10

- 1020

T3040

- 50 S

NEYES

4 -+

lv“ , \:.6-}-.r.: .

40

L ;,_Measurement_, o

' '_SQ-‘,60.‘7,1_ j

T 60-70 |

80 90

-‘N.p qf a'iftieles

20 ;,~,~-./1

SRR e

: tea(Rs )/ N

L=

,\88 ]

95 T

: “‘6;01

Sl ’

L 4 R

50
FERESPI A ¥ AR SR i

- Price of

T .i'f"rio"

134 =

151

coffee(Rs)

b The followmg table glves the helght and welght of 10 students aged 18 years selected by Pl
random samplirig from a populatton ' . e

|~ Height(inches)

61

68

68 64 N

.65

70

63

62.

6 5677

‘ ?Welght(pounds)

-1

112

123

130 115,

110 | 125

.100 \

‘113\

123 ;‘

' (1)‘ Calculate the: hne of ] regresswn jof welghts based on hei ghts
u)_L Caloulate the welght of a student whose he;ght is 69’

'Answer any TI—IREE Quest1ons T
j~;_ ALL Questlons Carry EQUAL Marks (3 x 10 30)

,,‘_’;Proﬁt (1n lakhs)

40 50

- 50 60

-|.“Number of Cos. .

[ Profit (in Takhs)

90-100 ‘

; e ""_Number of Cos 1=







